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Instructions: For each of the data sets below, determine the following: WM o aﬂ‘adu_ﬂ (a.%q,

Draw a scatterplot of the data

Is the graph showing a linear or non-linear relationship

For linear graphs, find the least-squares regression line and the correlation coefficient.
What proportion of the data is explained by the linear relationship?

Predict an appropriate measurement.

Give an example of a measurement you would not want to use with this model.

How strong is the relationship between the two variables?

Are there any obvious outliers?

1. No tortilla chip aficionado likes soggy chips, so it is important to find characteristics of the
production process that produce chips with an appealing texture. The following data on
x=frying time (sec) and y=moisture content (%) appeared in an article on the subject.

x
y

5
16.3
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2. The following data on y=glucose concentration (g/L) and x=fermentation time (days) fora
particular blend of malt liquor was read from a scatterplot in an article.

x
y

1
74
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3. The data below compared cricke;t chirps with temperature.
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For each of the scatterplots below, determine if the best-fit equation is linear or non-linear. If linear, if
the correlation positive, negative or approximately zero? Are there any outliers?
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